28@@ 5./0

=10 T T T ‘7 4.0 10 T T T
AT A H At [ 1
B I 25 DO NN DS B DA 55l 1
-5+ L 4
oo 3<><> O3 o>.fi>€>>\<>®> HONO GO <>: 30l 8 ]
o s El ’
g 2‘5} J
— T L
« 5F 1 & 61 B
= 2.0F ]
> : 4
10r i r |
151
: 4r A
15k E :
10p |
0| I P R R S PR RS A osBL v v v v v 2 P U R
00 02 04 06 08 10 05 1.0 1.5 2.0 2.5 3.0 5 10 15 20 25
phase ¢y H-K V—K
150 ‘ ‘ =
145/ —]
D =
o — -
° D o o e il =
135 | 0 e
13.0C =
40
E 20—
NN ARG S——-— - -—-———h—r— OO S A A
g - TN (A (A it A R A A (I A b
2 C
o —20—
£ C
—40C
1.0 =
08— —
S - =
T os— —
s = =
2 04— —
s = 3
§ 02— —
0otz ‘ ‘ ‘ - =
0 100 200 300 400
time [yr]
o o 90.42
- D‘D D: ‘ ‘ ‘ ; WWWWW\%&NWW@W Teff 2800 K
B e A ' ]
: e o 3gL 3.70 Lg
¥ o, BER : i Mass 1.00 Mg
% e 3 1 1g(c-0) 8.50
e E E
“ 3 i C/0 1.69
. . : 3 Au, 2 km/s
o o 047 : E
Db o g 1 f 2.0
_ IR class pp
H LT
o0 1% a 4 No wind
IR E E
R — & 3 Period  294. d = 0.806 yr
r : : : : : : : : . : : : 3 Rodius 307 R,
r o 1 3 logg -0.54
ol o o 0086 1 g #x107 1 My, 0.374
I L sy ©0.66 15 E
" v 1) b=
= [ m o, 1 © 3x107 3 ‘
e sk 1 o 18 3 Colour mean / min / max / range
— L n " 1% . 3 B-V) 2.19 216 2.22 0.06
> t ' 0 1 g 2x10 E V—1) 2.67 259 274 0.15
t 8o 12 E V—K 580 5.70 594 0.25
-18f ige " 18 0 J-H) 093 090 096 006
[ Qo 9, ] J—K 1.52 1.48 1.56 0.08
L ' ‘o | H-K) 0.59 0.56 0.62 0.05
R ‘ NI
—1.4 I s ‘ L8 0
348 350 379 381

time [yr] time [yr]



60
© 40
£
=
=
3
3
e 20
(/)

O
o
0
-20

-5
=
3
O
S~
=
=
Z 10
2
L3
o
o
3

—15

3.0

25

2.0

condensation degree
»

0.5

0.0

5000

4000

3000

Toes [K]

2000

1000

Note:

Time increases do

wnwards.

log r [em]

L L P T S RS SR RS SR
13.25 13.30 13.35 13.40 13.45 13.50 13.55
log r [em]
R S RS RO |
13.25 13.30 13.35 13.40 13.45 13.50 13.55
log r [em]
1 YT TV T . 1]
13.25 13.30 13.35 13.40 13.45 13.50 13.55
log r [em]
B o1 T S P B
13.25 13.30 13.35 13.40 13.45 13.50 13.55

Scales OK for last curve (bottom black)
—— T
60 — —
@ 40 —’/ o
€ L . 4
=
2 [ - 4
Z L ‘ i
3 :
¢ 20— —/"_ —
0 |- - -
8 -
o |- e -
ol ) _
-20 P S S T S S [ S S S S S I T S S SO SO SO S S |
13.25 13.30 13.35 13.40 13.45 13.50 13.55
log r [em]
s _
= L i
O | -
S~
= L 4
E
G -0 —
2
L3
2 L i
o
g L i
5 _
P S S S Y S S ) I S S S NS S SR |
13.25 13.30 13.35 13.40 13.45 13.50 13.55
log r [em]
B B T T e T A B L RS
25 —
g 200 ]
o L i
L
o |- -
c L ]
15— ]
5 VL i
3
e L ]
5
s [ ]
2 [ ]
o
S 10 —
0.5 —
ool v v v T 1]
13.25 13.30 13.35 13.40 13.45 13.50 13.55
log r [em]
5000 =
4000 - =
X 3000 =
- :
2000 =
1000 - =
o) S S N S E Y B
13.25 13.30 13.35 13.40 13.45 13.50 13.55
log r [em]



